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(10%) Find the following limits:

G%)  (a) lim(x -
x—=1" x-—-l
3 ——
(3%) (b) llm[x .
=1t o x—1
3 G
4%)  (c) lim(x 1]
x—1 x—l

10%) f(x)=(x"+3x+5)"°, find 2 mf@)
(10%) [ (3x* +x—S)dx
10%) [ (" +2x-3)’(x+1)dx

2
(10%) J'Zlnxdx

1

(10%) Find the area under the curve between the given x-values:

2x* +12x

Ux® +9x% +17

(10%) The second derivative of f(x)=(x* —x+1)-(x’ —=1) can be written as

2
d f(x) Ax* + Bx* + Cx+ D. Whatis (A, B, C,D)?

, from x=1 to x=3 -

flx)=

(10%) A company finds that its revenue from selling x units of a product is
R(x) = x* +500x dollars. If sales are Increasing at the rate of 50 per month,

find the rate of change of revenue when 200 units have been sold.

(10%) Find the equation for the tangent line to the curve ¥ = x*Inx—x*

at x=e.

Ae ™ x>0

and A >0 » please derive the value of the
0 ,x<0

Given f(x)= {

improper integral J- xf(x)dx .
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1.  What you give up to obtain an item is called your
a. explicit cost.
b. monetary cost.
c.  opportunity cost.
d. direct cost.

2. Which of the following changes would rnof shift the demand curve for a good or service?
a. achange in income.
b. achange in the price of the good or service.
¢. achange in expectations about the future price of the good or service.
d. achange in the price of a related good or service.

3. If goods A and B are complements, then an increase in the price of good A will result in
a. more of good B being sold.
b. more of good A being sold.
c. less of good B being sold.
d. no difference in the quantity sold of either good.

4. A supply curve slopes upward because
a. anincrease in input prices increases supply.
b. anincrease in price gives producers an incentive to supply a larger quantity.
c¢. the quantity supplied of most goods and services increases over time.
d. asmore is produced, total cost of production falls.

5. The smaller the price elasticity of demand, the
a.  steeper the demand curve will be through a given point.
b. flatter the demand curve will be through a given point.
c.  more strongly buyers respond to a change in price between any two prices P and P;.
d. smaller the decrease in equilibrium price when the supply curve shifts rightward from S to S.

6.  Suppose the price of potato chips decreases from $1.45 to $1.25 and, as a result, the quantity of potato
chips demanded increases from 2,000 to 2,200. Using the midpoint method, the price elasticity of
demand for potato chips in the given price range is

a.  2.00.
b 1.55
c. 1.00.
d. 0.64.

7. When atax is imposed on a good for which the supply is relatively elastic and the demand is relatively
inelastic,
a. buyers of the good will bear most of the burden of the tax.
b.  sellers of the good will bear most of the burden of the tax.
¢.  buyers and sellers will each bear 50 percent of the burden of the tax.
d. both equilibrium price and quantity will increase.
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The minimum wage is an example of a
a. price ceiling.

b. price floor.

c. wage subsidy.

d. tax.
9. Total surplus is equal to
a. value to buyers - profit to sellers.
b. consumer surplus x producer surplus.
c.  (consumer surplus + producer surplus) x equilibrium quantity.
d. value to buyers - cost to sellers.
110. Efficiency is attained when
a. total surplus is maximized.
b. producer surplus is maximized.
c. all resources are being used.
d. consumer surplus is maximized and producer surplus is minimized.

11. A difference between explicit and implicit costs is that
a. explicit costs must be greater than implicit costs.

b.  explicit costs do not require a direct monetary outlay by the firm, whereas implicit costs do.
c.  implicit costs do not require a direct monetary outlay by the firm, whereas explicit costs do.
d. implicit costs must be greater than explicit costs.

12. A negative externality will cause a private market to produce

a. less than is socially desirable.

b. more than is socially desirable.

c. exactly the quantity that is socially desirable.

d. less than the same market would produce in the presence of a positive externality.

13.  The accountants hired by the Brookside Racquet Club have determined total fixed cost to be $75,000,
total variable cost to be $130,000, and total revenue to be $145,000. Because of this information, in
the short run, the Brookside Racquet Club should
a. shut down.

b. exit the industry.
c. stay open because shutting down would be more expensive.
d. stay open because the firm is making an economic profit.
14.  Which of the following is a characteristic of a natural monopoly?
a. Fixed costs are typically a small portion of total costs.
b.  Average total cost declines over large regions of output.
¢.  The product sold is a natural resource such as diamonds or water.
d. All of the above are correct.
15. A market structure with only a few sellers, each offering similar or identical products, is known as
a. perfect competition.
b. monopoly.
c. monopolistic competition.
d. oligopoly.
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The prisoners' dilemma provides insights into the

a. difficulty of maintaining cooperation.

b. benefits of avoiding cooperation.

c.  benefits of government ownership of monopoly.

d. ease with which oligopoly firms maintain high prices.

Gross domestic product measures

a. Income and expenditures.

b. income but not expenditures.

c. expenditures but not income.

d. neither income nor expenditures.

Economists use the term inflation to describe a situation in which

a. the economy's overall output of goods and services is rising faster than the economy's overall
price level.

b. some prices are rising faster than others.

c. the economy's overall price level is rising.

d. the economy's overall price level is high, but not necessarily rising.

Other things equal, relatively poor countries tend to grow

a. slower than relatively rich countries; this is called the poverty trap.

b.  slower than relatively rich countries; this is called the fall-behind effect.

c.  faster than relatively rich countries; this is called the catch-up effect.

d. faster than relatively rich countries; this is called the constant-returns-to-scale effect.

Which of the following is not a function of money?
a. aunit of account

b. astore of value

c. medium of exchange

d. liquidity

The Fisher effect says that

a. the growth rate of the money supply is negatively related to the velocity of money.
b. real variables are heavily influenced by the monetary system.

c. the nominal interest rate adjusts one for one with the inflation rate.

d. All of the above are correct.

Which of the following correctly of explains the crowding-out effect?

a. Anincrease in government expenditures decreases the interest rate and so increases investment
spending.

b. the reduction in aggregate demand that results when a fiscal expansion causes the interest rate

to increase. :

c. the reduction in aggregate demand that results when a monetary expansion causes the interest rate
to decrease.

d. All of the above are correct.
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23. Which of the following would cause stagflation?
a. aggregate demand shifts left

b. aggregate demand shifts right

c. aggregate supply shifts right

d. aggregate supply shifts left

24. According to liquidity preference theory, the money-supply curve is
a. upward sloping.

b. downward sloping.

c. vertical.

d. horizontal.
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1 (10%) f

1
(x-1?

2. (10%) [5+xdx
1

3. (10%) fl—{—l_ﬁ’—cz——J

del x* —8x% +7

4. (10%) g- 2 +(z2 -1 f
yA

3 2__
5. (10%) lim[3x 3 6x]

-1 x> +x

6. (10%) Given isint9=<:os(§a’, ic:osé?:—sinﬁ, and iasint’:’=a'coséJ ,
de dog 7]

dy . .
please find E for xcosy=sin(x+y).
; Ae™™ x>0 :
7. (10%) Given f(x)= 5 " and A >0 > please derive the value of
X

the improper integral sz f(x)dx.

8.  (10%) Find the area under the curve between the given x-values:

2x* +12x
Vx® +9x% +17

9.  (10%) The demand function for a productis p =250+ 14x—x*, and the supply
function for itis p =154 +18x+ x*, where p is the number of dollars and x is

fx)=

, from x=1tox=3 -

the number of units. If the equilibrium price is $298, what is the producer’s

surplus at the equilibrium price? Round to the nearest cent.

10.  (10%) Ie" cos xdx
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